Get out your homework from yesterday and start checking the
gquestions below.

Classwork - Approximating Square Roots

Find each root.
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GARDENING Mmshahﬂgfizgpmr plants that she wants to plant in square formation. How many pepper plants
o

should she plant in cac g~ f“'{ J'FL{ FE-PI&"F Pﬁ.—;fﬁ

. RESTAURANTS A new restaurant has ordered 64 tables for its outdoor patio. If the arranges the tables in

a square formation, how many will h row? § A Each rotd
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GEOMETRY The formula for the perimeter of a square is P = 45, where 515 the length of a lldr:. Find the perimeter

2.

of cach square.
iy B ) o = 324~ jf”
inches Tnet
m”:,;u ?: / E‘ 4‘-’ :?'21

{.}H_Il‘]_.l‘-j:'-lgfﬂ ?:‘:}'J—}:%ﬂ,

ﬁﬁ: |2 in ﬁ_ :Q‘ﬂ' Yiry




Target: | can find an approximation for square roots and locate them on a number line.

The method below will help you approximate a non perfect square root without a calculator.

Example: Find the fractional approximation of +31

Step 1:1dentify what 2 perfect squares your square root falls between.,

VZ5<V31<\36 3
5<+4/31<6 = The mixed number approximation for V31 will be if
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Step 2: Find the numbers in the fraction portion of the approximation

Mumerator = how far above the lower perfect square V31is
31 is 6 above 25 = numerator of the fraction is 6

Denominator =* the total distance between the two perfect squares
The distance from 25 to 36 is 11 = denominatoris 11

Step 3: Write the mixed number approximation for the square root

6
V31 is about 5



Step 3: Write the mixed number approximation for the square root

[
V31 is about SH

Step 4: Use long division to find the decimal value of the E:tiun
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The approximate value of V31 =5. 54
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Step 5 : Use your calculator to find the value of the square root.
Number Between square roots | Between two About About Calculator
of what perfect integers (fraction) (decimal) check (to the
squares nearest
hundredth)
o
1 V31 V25 and 36 5and 6 573 5.54 5.57
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